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T PSG COLLEGE OF ARTS & SCIENCE e
RPN R (AUTONOMOUS) et

R | ? BSc DEGREE EXAMINATION MAY 2022
L (Frfth Semester) o

Branch STATISTICS .
STATISTICAL INFERENCE-II

Trme Three Hours SRRt '3«5 Maxrmum 75 Marks , B -
A | ' SECTION-A (10 Marks) i- x )
o S - Answer ALL questions RS ‘ B
PRI ALL questrons carry EQUAL marks (10 X l = 10)

1 The probabrhty of rejectrng the null hypotheSIS when It is true is called

(1)Level of confident . - = (11) Level of significance -
(m) Power of the test - o (IV) Drfﬁcult to tell -
u 2 Parameter space for test1ng H y Uy VS H, :u # fy is.
o (1)(") {.ula,uz’o' } f'_‘ (11) 0= {/11’/-‘2’0'1 P }
‘ (111) 0= {,u,o- 1 . C(iv) © ,—{p,cr, >0, 2y

30A brIlhant student lS tarled by an examiner, it is an example of
R ()] TypeIerror T (u) Type Il error - :

Lo (iid) Power of the test . (iv). Unbrased test ‘ ’

- 4. Reject the null hypothe51s in testmg Hop= uO Vs H1 u * qurth mean u and
o nknown varlance c of normal populatron if : :

( )]tl “\/——( /10 >t __1(&/2) (ll)ltl ____’_1_02 t,,_l(a/z) o -,
s e S
a '(111) lt|_ ____,__7‘_‘12 >tn~l (a) ' (Iv) M ‘J—( # 2 <t,, l(ar)
: , 5 State the test statrstlcs for testrng Smgle proportron . RN S
1) _.l’i.:_’i-_ L (11) z:__:.I?"vPov k |
(iv) 2= 2o
o e
R ‘ n+l B ’
6__; * Mentron the Crmcal value of two talled test for zat 5% level of srgnlﬁcance. .
(1) 2.58 Gi)1.96 (i) 1645 (iv) 2. 33 o

L v'ff7~.’_Ident1fy the person ‘who drscovered t distribution - | 3 o
- (I)Karl pearson (11) Laplace (111) Frsher : o .(1,v) Gosset._ e

8 :"Choose the degrees of freedom for parred t test is 4 -
o(@n-l (11) n-2 . (@i)n o (Iv) n+1
9. An mdependent t-test can be used to assess Wthh of the followmg? o
)Tt assesses difference between two- groups of partlcrpants ‘ '
- (ii) It assesses goodness. of fit -
R C(iii) It assesses relationships between two ratlo data Sets AR,
C vy It assesses difference between two standard devratrons el

10 Ftest IS used fortestrng R TR S - e e
(1)d1fferenceoftwomeans et RS e
(u) difference of two standard devratrons L

~ (iii) to compare ‘theoretical and experrmental observatron R
(Iv) testmg smgle standard devratlons : AR
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: SECTION B(35 Mar_) LT

' ~ Answer ALL Questions -~

ALL Questrons Carry EQUAL Marks (5 x 7= 35)

If x> 1 is the crrtrcal region for testlng H,: 9=2 agamst the alternatrve 9—1 on .
" the basrs of the single observation from the populatlon 1(x, 6)—— exp

(- Gx) 0<x<oo Calculate the values of type I error and type] II errors..

(OR)

b Let p be the probabrhty that coin wrll fail head in smgle toss in order to test H L |

i .l l4a

h=1/2 against Hy: p=3/4.Thecoin is tossed 5 times and H, is re_]ected if more'f‘;
than 3 heads are obtamed CalculateFmd the probabrlrty of type I error and
power of the test ¥ . _ : o

' 12 a_ Develop the UMPCR for testlng HO B=Ho Vs Hl u <u0 in normal dlstrlbutron
, wrth mean u and varlance <5 usmg a random sample. of srze n. .

(OR)

| Show that the LRT for’ testlng the equahty of varrances of two norrnal

o ,drstrrbutrons is the usual Ftest. -

| Explam the test procedure for testmg equallty of populatlon correlatlon EEN

. coefﬁcrents

B | (OR) |
Descrrbe the testmg procedure for testrng srngle proportron

. Outhne x test for testmg populatlon varrance

ERASRE - (OR)

b Descrlbe 1 test for equahty of two s1ngle mean when samples are dependent

15 3 ‘a If A and B are mdependent state whether the data glven below is posrtlvely o

',#) -

; assocrated or negatlvely assocrated (A)**470 (B)-'=620 (AB)=320 N—IOOO

(OR)

b For two attrrbutes A and B we have (AB)’S (A)"IS,(Otﬁ) “‘5 N“35 Calculate _ e

o Yule s coefﬁcrent of assocratlon ,

6
S 1’7.

[\

. ,,SECTION-C 30Marks*/‘ o
- Answer any THREE Questions

A ALL Questrons Carry EQUAL Marks Gx10- 30)

State and Prove Neymann Pearson Lemma .

| , "Obtarn the problem of testmg H,: u— po Vs H1 u ES p.o w1th mean u and

unknown Varranee o of normal populatlon o

20,

jiDrscuss the large sample test for testrng the srgmﬁcance of drfference of -

Cproportion” o o |
""Summarrse the steps in testmg the srgmﬁcance of equahty of two means .

Outhne x test of 1ndependence of attrrbutes \ o



